. ﬂf the incident wavefront in F

 lenses in Fraunhofer diffraction ?

resnel diffraction ?

e of the incident wavefront in a Fraunhofer diffraction ?

tion at a single slit, pass monoc romatic light through a rectangular slit, What is
e slit image got on the screen ? If the width of the slit is very wide what would
-of the image ?

imum produced in the Fraunhofer single slit diffraction pattern !

te maxima and minima of varving intensity in the diffraction pattem due toa

gtion at a single slit, what is the condition for getting the first secondary minimum.

-

ain its formation ? Use appropriate diagrams.

maxima with reference to the Fraunhofer diffraction at a single
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(hiat i a plane transmission grating ? -

WS How is a grating made ecd

PR GIve an example of diffraction grating ? -
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iffraction grating is it possible to get more than one principal maxima ?1f'so

fe 8What is the maximum number of order that can be obtained using a GIItraction SIEEEE:
g element ?

at by ‘corresponding points’ in grating ”
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f wavelengtl 5900 A falls normally on a slit of "Wldth 11
is received on a screen. Calculate angular position of the first ir
of the central maximum.

t of wavelength 6000 A from a distant source falls on a slit 0.5 mm wide.
een the two dark bands on each side of the central band of the diffraction pa

o ¥

screen placed 2.0 m from the slit ?

# | 3

‘A plane transmission gravity having 8000 lines per cm is be
longest wavelength which can be observed in the first order.

4.‘ A slit of width ‘@’ is illuminated by a light of wavelength 5500 A. What will be the value
(a) the first minimum falls at an angle of diffraction of 30°. (&) the first minimum mz
an angle of diffraction of 30°. Ans.

S. Red light of wavelenght 6500 A from a distant source falls in a slit 0.50 mm wide. What is tt

between the two dark bands on each side of the central bright band of the diffraction p
on a screen placed 1.8 m from the slit ?

e

is irradiated with microwave of wavelength 2.0 cm. Fin
central maxima assuming incidence normal to the plane of the slit.
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